
Parts List 09 637 03 02 
AC brake motors EN Page 1 / 2 
BMG2, BMG4 EM 28.08.2009 
additional list : brake 

 

When ordering spare parts always quote nameplate data with serial number and designation with part number! 
This additional list has to be used with the relevant brakemotor spare parts list. 
Brake springs item no. 50/265 6 ea. per set. Required number depends on brake torque.  

Copyright reserved! All rights reserved according to DIN ISO 16016. 

SEW-EURODRIVE GmbH & Co KG Postfach 3023  D-76642 Bruchsal Tel. (07251) 75-0  Fax (07251) 75-1970  http://www.sew.de 

   

No. Description Additional specifications SEW standard label Part No. Qty.

 

42 Brake end shield   01819186 1 
42 Brake end shield for encoder mounting with Flange hood  01820796 1 
49 Pressure Plate   01855344 1 
50 Brake Spring for repair set  01351508  Y)

 

53 Releasing Lever for manual brake release  01351346 1 
54 Brake coil body complete + DA

  

BMG2 24DC 08670439 1 
54 Brake coil body complete + DA

  

BMG2 230AC 08670447 1 
54 Brake coil body complete + DA

  

BMG2 240AC 0868782X 1 
54 Brake coil body complete + DA

  

BMG2 290AC 08698252 1 
54 Brake coil body complete + DA

  

BMG2 400AC 08670455 1 
54 Brake coil body complete + DA

  

BMG2 440AC 08687838 1 
54 Brake coil body complete + DA

  

BMG2 500AC 08670463 1 
54 Brake coil body complete + DA

  

BMG4 24DC 08670471 1 
54 Brake coil body complete + DA

  

BMG4 230AC 0867048X 1 
54 Brake coil body complete + DA

  

BMG4 240AC 08700168 1 
54 Brake coil body complete + DA

  

BMG4 290AC 08692955 1 
54 Brake coil body complete + DA

  

BMG4 400AC 08670498 1 
54 Brake coil body complete + DA

  

BMG4 440AC 08687862 1 
54 Brake coil body complete + DA

  

BMG4 500AC 08670501 1 
56 Stud for manual brake release W4058 M5x60-8.8-ADB3 00118338 2 
57 Conical Coil Spring for manual brake release  01350137 2 
58 Hexagon nut for manual brake release DIN985 M5-8-A2F 00117765 2 
59 Dowel Pin for manual brake release ISO8750 6x24-ST 00127205 1 

 

Y)  Number depending on brake torque 

http://www.sew.de


Parts List 09 637 03 02 
AC brake motors EN Page 2 / 2 
BMG2, BMG4 EM 28.08.2009 
additional list : brake 

 

When ordering spare parts always quote nameplate data with serial number and designation with part number! 
This additional list has to be used with the relevant brakemotor spare parts list. 
Brake springs item no. 50/265 6 ea. per set. Required number depends on brake torque.  

Copyright reserved! All rights reserved according to DIN ISO 16016. 

SEW-EURODRIVE GmbH & Co KG Postfach 3023  D-76642 Bruchsal Tel. (07251) 75-0  Fax (07251) 75-1970  http://www.sew.de 

No. Description Additional specifications SEW standard label Part No. Qty.

 
60 Stud  W4059 M8x80-A2-80 00131911 3 
61 Hexagon nut for repair set ISO10511 M8-8-A2F 00117781 3 
64 Setscrew for manual brake release W4071 M8x30-45H-BA 00127175 1 
65 Pressure Ring for repair set  01820664 3 
66 Rubber sealing collar for repair set  01820265 1 
67 Counter Spring for repair set  01819216 3 
68 Brake disc complete for repair set  01836706 1 
69 Circular spring for repair set; included in Item no. 68  0135146X 1 
69 Circular spring only for MT  05936160 1 
73 Stainless Steel Disc for repair set  01819224 1 
95 Sealing ring for repair set  01820109 1 

265 Brake spring red for repair set  01351516  Y)

 

9999

 

Repair kit   01844083 1 

 

Y)  Number depending on brake torque 

http://www.sew.de

